Py
( LFuU4O ’;{E‘Z,?,gﬁf LFU4DDDDDDDDDDDDDD)

» =

m 0
gooooooooooooooooooo
gooooooo
gooobooobobooo
goooboooooboog

00
goooOooooooa
[DDDDDDDDDDDDDDD }

goooooo
oooo LFU40 O 0ONO.1 .0 NO.4
gooooooooo
gooooo
goooo
000
0 o LFU4D
0 0 | NO.1,ONO.4 | NOSONO.7
00000000100 400
ooooooo Qoesn0 0
D 100000 |00
0 ' 00000 |00000000000
|
‘ SPCDO [
o 1 BE0EE Fspeenno spce <8
0. SPCDO [ SPCCINO.50 NO.60
EDDDDD ePCED O 0 AR NOTL] LFU4D 0 0 NO.50 NO.7
00/00000000 | 00/00000000
Cooooon | DD4koD 0032K m ooy
oo/ oo/ oooo
SGCC SEHCO OO o | noDD000000 0000000000 | NO4DNOT
oooogjtMooooogn 0 |0ooooooooooOoOO0O | NOSONO7
DIDDDD 00/[0004/60 | 000460 g 0000000 00000000000000| NO.SONO.7
|
g 0000 |100200v 200V/220V 0| oooooooooooooo NO.501 NO.7
g0 0 0/oo0odikdodonn E 0000000 040K NOSINO7 03
00000 PLAMAOODOOOOOO  ELRERRREEEEREGRIGEE
o IE1
|
EEEEL E80000000m2 0 |000000 [ 400420440 NO.30 NO.4
“0ooooo loooo Soooooo 0|ooo 400/440V NO.50 NO.7
O
“oooooo oo 0 |oooooooooo NO.50 NO.7
0|ooooo NO.50 NO.7
01 00000+50000000000+20000
0000000000000000000050 03 00000000000 0040KONO.L .0 NO.4
0000000000000000000000 04 OO0ODOOOODOOOO0MOOOOOODOO
000000000 000000
02 00 60HzS6MWOOOOOOOOOOOOODO e 000000000000
s 00000 Qoo
00000000000100 NO.L f.0 NO.4
0000000000 oo, 0o S oooo0100 NO50 NG
O00000NOSONO.TO oo 0o
00000000000 NO.L .0 NO.4

00000000 OocooO000O0ODOOODOODODOOODDO
18



P 1 T
(LFU4DDDDDDDDDDDDDD e ZGmar | LFUAD )

O

s 00000 O
A — — % I:l

O00O0eJ0O0U0OOO0OOOOOOOOOO ! —-- O

000000000 oooooooooo0ddB A —-J’ - 1“—\~ O

gAOOO0O00OO0O0O00O0O ‘ I_ u
|\ —

(A1 .6m]

AER

0oooooooooooooooooOoOoOOoooo
ooooooooo

mggooodg

700 T
600 ] e
500 44.5) SLFU46 e T

(95)

400 f

300

M — \
200 -
iR 2LFU46/04S

i

100 = N

=

N
()
m
=
i~
&
=
N
.
yd
P
b
gt -

46201 Y -
Pa 60 \

| et

M

40 \

~t

|ttt

30 f

20 28 \

SN

50 100 200 300 500 1000 2000 3000 5000
B (m’/h)

19



LFu4i 00 ooooobooooad )

O
O
O
O
O
O
O
u

o
=3
T ” S
00
3
[
I T
3 g
o) S
13
\\\H.u = e an A
RAON 2 Ea 3
< 1
¥ G N o
o H LA X e i —+++
©| | 07 LT A [ i A N o
<> 72 D 8
oA : 2t g
o 3 =
[To , /70 = (o) —
T y =
LT = pd
© =t
HH o
N
4 4 N < w
=S A S
oV
oy ST ARCY
S s ~
AN\\WMR % -
SHE
N T == o) o
iy c 5 < m
el n. V.4
P AR 2 )
RS B
> i m
3 S
~ N
<
I
1 3
I 7 3 =]
f -
7l
I
I | I §
]
& 8
3 i ®
3 f
frlil i Y 1
5] 5 u
TS [ o
L (e Q S
o B =
0 =
2 )
|1 | ~, o
TTT G IS
58} N
Hewo <+ «©
H e ™ — < S
H & © © © S
N < = N
== N o
ez C g = g
M| o © ~
Hopo o
1860 -
gl
o
11 3
9 9 99 9 9 o 2 8 88 2 8 o o
g8 888 8 8§ g8 88% 8 < =
w2

B# (m’/h)

20



Pyt
(LFU4DDDDDDDDDDDDDD ’EEZZ@;? LFU40 )

mggoo

11/2~4 LFU4E XHmhE

o
t1 12 ABSORPTIVE H
MATERIAL F
ac aer | NN
[alfalfa)
1) - ki
READING
CABLE
R b
ERm BOLT’;EIOLES
oo ooooooooo 000m
D1
oo
NO. DVE A D2 E F H R g f
D3 kg
140 60
10 12 510 162 260 312 332 1.0 10 105
60
282
25 190 60 215
2 40 730 226 520 440 460 1.0 50 12 22
80 413 24
150 203 o 52
3 300 970 317 720 590 620 1.0 15 52
50
450 544 54
oo
D1
oo
NO. Dkv? A D2 E F H R g f
D3 kg
0.15 293 o 52
3 03 970 317 720 590 620 1.0 15 49
50
0.45 544 49
0.7 390 o 79
4 11 1170 402 880 640 670 1.0 15 82
50
16 594 85

21



o2 len, |
( LFuU4O ’%Z;g;ﬁ LFU4DDDDDDDDDDDDDD>

mggoo
507 LFU4D

n-dh U
PR

5

100

4- 15K
Y LA
| .
: U st | iz
. " L EEAE
MR+ > S [] n-danu
DS

000mm
oo 000kg
NO. D1 | D2 | D3 | D4 | D5 | L L1 | H W | WL | V n-d
Kw 000 |ooooo
0.75 186 174
5 630 | 670 | 690 | 750 | 800|1320|1250| 450 | 630 | 560 90 | 12-M10
2.7 197 185
1.4 0200 264 250
6 710 | 760 | 790 | 850 | 910|1500 |1430| 500 | 710 | 630 16-M10
4.0 95 273 259
1.6 326 310
7 800 | 850 | 880 | 950 | 1010|1700 |1630| 540 | 800 | 710 95 | 16-M10
5.6 339 323

gooooooooooobooooooooobooooobobobbobobobo

22



(LFU4DDDDDDDDDDDDDD f»gzzgg.r LFU4Qd
‘ _ —
m NO.1LLONOA4 LFU4O0 OO OO OOd
oo oooo
0 e——eR
O
oo O
O
100V 0o oS
E
0 e—eR
00 U
o—eo
200V \Y O S DD
W De—eT
E
000000000000000000
LFU40000000000NO.1 0 NO0.40
00O 0oooo oo
NO. | OO 0o oo |oooo |[PE0E DDD.?DDD Hooo
Oo|oo A min A 000 |0ooo (oo
10| 12w 4 0.42 1735 0.82 | 62002z | 6200ZZ
25W 4 0.64 1090 0.70 | 6200ZZ | 6200ZZ | E
2 40W 4 0.84 1360 0.95 | 6200ZZ | 6200ZZ
80W B 00vV| 4 | OO0 1.8 1650 3.8 620277 | 62022z | F
150W 6 1.9 1070 3.9 620477 | 620477
3 | 300W | 0O 4 4.7 1480 6.2 620477 | 620427
450W | IP40 4 6.2 1660 15.4 620477 | 620422
0.15w B OO0 6 0.75 1085 2.2 6204ZZ | 62042Z
3 | 0.3k 4 15 1400 3.0 620277 | 620277 | E
0.45kW 0 4 2.2 1620 6.5 620277 | 620277
0 |200v ooog
0.7kw 4 2.8 1745 13.5 620477 | 620427
4 1.1kW 4 5.6 1600 17.8 6206ZZ | 620527
1.6kW 4 6.7 1745 31.8 6206ZZ | 620522

loovOo2oovOo 0 OO0O000000000000000000000O

goooooooooOooooboOoOoOoooooOoOoOoooOoOOoO0oO0OoOooOoOoboOoOoOoOooOoOOoOoOoOoooOoOnoO
gooooooooooooogono
gooooooooooooooOooocoooOooooooooooooomooooooooooooobobooo

gooooooboooDo

400v0 0 00000000000000000000000000000000000000000000010

23



T
( LFuU4O %Zgg;;;f LFU4DDDDDDDDDDDDDD>

mLFU4000000000DONO.50NO.70

oo ooo oo0o0|oooooo|oooo gooo oo
NO. W oo 0 00 oo |(oogd A T A 00o loooo |oo

5 0.75 6 4.05 1110 20 620527 | 62042z

2.7 000 4 10.8 1695 74 630527 | 6205272

14 6 6.8 1100 33 6306ZZ | 6205272 E
6 IP40 | OO | 200V ooo

4.0 oooo 4 15.4 1670 96.5 | 6306ZZ | 6206ZZ
2 1.6 6 7.2 1080 33 6306ZZ | 620527

5.6 4 21.8 1760 166 6308727 | 62082z F

24



Pyt
(LFU4DDDDDDDDDDDDDD ’EZZ@;F LFU40 )

m 0000

ONO.1.ONOA4LFU4AO OO OO
gboooobooobodoooooboooboobooooooooboooboobobobooboboooboOooooon
goodoooooboboooooooooobbooboooooooobo

ONO.SONO.7LFU40 00O 0O
goooooboooboobooboooooboooobbooboooooobooboooooooboboooboog

gobooooooobobooboooo

w7529
{RRERT
w752y —‘“
_FTh
X,
g9 b
NO.1 2.0 NO.4 NO.50 NO.7

e[lJ000ID0OO0DOODOUDOODODODODLDDUDULOOUDDODODODDODLODUODOODODO
goooooobooboobooboobooboooooooooobooboobooooboooOoo
gooooooboobooboooobooboobooo0oobooboooobOobb200oD@ogoobooo
goboooooooooboboooboooooobooboboooooooboobooboboooon
e[lJ000DO0O0OODOOLOOODOOOODLOOOOODOODLOOODOOOOODLDOOOODOODLDO
goboobooooboooooobooboboooboooooboooobooooboooooobooo
booobooboobobobooboooobooooboooobooooooboooobooogon
gobooboooooboooboboooooooboooboboooon
e[lJ000O00O0OODOLOOODOOOODOOOOODOOOODOOOOODOOOOODOODOO
gbooobobooobooooooooboboobooboooobooobooboobooboooooobooo
gboob0O0ONOl zONCAODOOOOOODOONOSONO.7ODODOOODOODODOOOODOO
oooo

25



